STEERING & SUSPENSION PARTS

‘Kjuo sasodind uonew 10§ Pasn aJe JUaWND0P SIY3 Ul papn|oul eiep pue siaqunu ued ‘suoidudsap jonpoud ||v
Ipl|dewWe |6]1q 929pES 19|119A dA Iie|Blewnu edied ‘liejewe)yide unin wny Iepuewnyop ng X

SINALI M3N



-
{5 TXNOROT

TEKNOROT REF: B-1004K

Suspension Ball Joint Kit 4X4, with kit, big nut

Weight: 1325  Length: 0,932  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR DIRECTIONS
5-SERIES (30, G31 2017- Front Lower

TEKNOROT REF: B-1004K

Suspension Ball Joint Kit 4X4, with kit, big nut

Weight: 1325  Length: 0932  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
6-SERIES G32 2017- Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

| EMBER

ADAPTABLEFOR BMW

OEMNO

31106852536

ADAPTABLEFOR BMW

OEMNO

31106852536



S =
o ENORaT

TEKNOROT KEF: B-1004K

Suspension Ball Joint Kit 4X4, with kit, big nut

Weight: 1325  Length: 0,932  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR DIRECTIONS
7-SERIES G11 G12 2017- Front Lower

TEKNOROT REF: B-10081

Suspension Control Arm and
Ball Joint Assembly

Xdrive, aluminium

Weight: 384  Length: 1907  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
) ) Front Right
1-SERIES F20 F21 2011 L ower Forward
COMPONENTS NUMBER NAME DIRECTIONS
g 581334 CONrOLATM. | ot | ower
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

NOVEMBER

ADAPTABLEFOR BMW

OEMNO

31106852536

ADAPTABLEFOR BMW

31126854724

OEMNO

311268547247, 31126854723*



~\ TXNOROT

(A TE |
\‘ STEERING 6 SUSPENSION PARTS '

TEKNOROT REF. B-10081 ADAPTABLEFOR BMW

Suspension Control Arm and Xdrive aluminium
Ball Joint Assembly

@ Y m@

Weight: 384  Length: 1907  Bolt Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
3-SERIES F30 2012-2018 LO@ o ;5%; ’ 31126854724
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
e SB1334 Control Amn Front Lower 31126854724* 31126854723
4 Bushing
TEKNOROT REF: B-10081 P
Suspension Control Arm and Xdrive aluminium

Ball Joint Assembly N
o~ =]

Weight: 384  Length: 1907  Bolt Metric: M14X1,5

L
7 -

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
. : Front Right
4-SERIES F32 2014 L 311266854724
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
g SB 1334 Lontrol Arm Front Lower 31126854724* 31126854723*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: B-10091 ;

Suspension Control Arm and Xdrive aluminium
Ball Joint Assembly

Weight: 384  Length: 1907  Bolt Metric: M14X1,5

Front Left Lower

1-SERIES F20, F21 2011- e 31126854723
b SB 1334 ControlArm | o) ower 31126854724* 31126854723
& Bushing ‘

TEKNOROT REF: B-10091  emes pMW

Suspension Control Arm and Xdrive, aluminium —
Ball Joint Assembly

Weight: 384 Length 1807  Bolt Metric: M14X1,5

Front Left Lower
Forward

3-SERIES F30 2012-2018 31126854723

? g SB 1334 Lontrol Arm Front Lower 31126854724* 31126854723*
& Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 4



A\ TXNOROT

K) STEERING 6§ SUSPENSION PARTS EMBER

TEKNOROT REF. B-10091 ADAPTABLEFOR BMW

Suspension Control Arm and Xdrive aluminium
Ball Joint Assembly

r.. i . 3
- 4 5
Y= gos
i
R

Weight: 384  Length: 1907  Bolt Metric. M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
4-SERIES F32 2014- o 31126854723
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
e SB1334 Control Amn Front Lower 31126854724* 31126854723
4 Bushing
TEKNOROT REF: B-165 ADAPTABLEFOR BMW
Lateral Arm bushing

Weight: 48  Length: 0296

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

X1 EB4 2009-2016 Rear Upper 33322409691* 33526782166

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

k) STEERING 6§ SUSPENSION PARTS EMBER

TEKNOROT REF: CI-553K ADAPTABLEFOR (I TROEN
Steering Tie Rod with accessories

| e ————

-

h

Weight: 2337  Length: 0,518  Bolt Metric: M14X1,5  Housing Metric. M12X1

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
c2 M 2003-2009 Front 3812E1
TEKNOROT REF. CI-553K ADAPTABLEFOR GITROEN
Steering Tie Rod with accessories I,f

Weight: 2337  Length: 0518  Bolt Metric. M14X1,5  Housing Metric. M12X1

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

c3 FC 2003-2009 Front 3612 E1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

K) STEERING 6 SUSPENSION PARTS EMBER

TEKNOROT REF: CI-663 ADAPTABLEFOR G TROEN
Steering Tie Rod

hm.

Weight: 2652  Length: 0614  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
SPACETOURER 2016- Front 9820340280
TEKNOROT REF: CI-663 ADAPTABLEFCR GITROEN

Steering Tie Rod

-ﬁm.

Weight: 2652  Length: 0614  Bolt Metric. M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

JUMPY n 2016- Front 9620340280

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

k) STEERING 6§ SUSPENSION PARTS EMBER

TEKNOROT REF: CI-663 ADAPTABLEFOR PEUGEOT
Steering Tie Rod

*HE.

Weight: 2652  Length: 0614  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPERT % 2016- Front 96820340280
TEKNOROT REF. CI-678 ADAPTABLEFOR ITROEN
Suspension Control Arm

Weight: 3935  Length: 585

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
SPACETOURER 2016 L ower 9816863580
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
6 551307 Contra/’Arm Front Lower 9816863580*
W/ Bushing Inner
“ 551399 Contm/’Arm Front Lower 9816863680*
s Bushing Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT vEER

TEKNOROT REF: CI-678 ADAPTABLEFOR GITROEN
Suspension Control Arm

Weight: 3935  Length: 585

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
: Front Right
JUMPY n 2016 | ower 9816863580
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
6 951377 Confro/’Arm Front Lower 9816563580*
A Bushing Inner
= Control Arm Front Lower ”
? SB 1328 Bushing Outer 9816863680
TEKNOROT REF: CI-678 ADAPTABLEFOR PEUGEOT
Suspension Control Arm

Weight: 3935  Length: 585

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
EXPERT % 2016 L ower 9816863580
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
6 551307 Contra/’Arm Front Lower 9816863580*
& Bushing Inner
= Control Arm Front Lower .
? 581328 Bushing Outer 9816863680

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: CI-679 ADAPTABLEFOR GITROEN
Suspension Control Arm

Weight: 3935  Length: 585

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
SPACETOURER 2016- Front Left Lower 9816663680
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
6 951377 Confro/’Arm Front Lower 9816563580*
A Bushing Inner
= Control Arm Front Lower ”
? S5B1328 Bushing Outer 98166863680
TEKNOROT REF: CI-679 ADAPTABLEFOR CITROEN
Suspension Control Arm

Weight: 3935  Length: 585

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
JUMPY i 2016- Front Left Lower 9816863680
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
6 551307 Contra/’Arm Front Lower 9816963580*
& Bushing Inner
= Control Arm Front Lower N
? S5B1328 Bushing Outer 98166863680

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: CI-679
Suspension Control Arm

Weight: 3935  Length: 585
MODEL NO BOODY CODE YEAR DIRECTIONS
EXPERT V 2016- Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
6 581327 Confro/’Arm Front Lower
A Bushing Inner
“ = Control Arm Front Lower
7.8 981326 Bushing Outer
TEKNOROT KEF: F-251
Lateral Arm
Weight: 3062  Length: 0.647
MODEL NO BOOY CODE YEAR DIRECTIONS
FREEMONT JC 2011- Rear Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

MBER

ADAPTABLEFOR PELIGEOT

OEMNO

9616863680

OEMNO

9816863580~

9816865680

ADAPTABLEFOR FIAT

OEMNO

68079539AB, 66079539A0,
66079535AE



=
o ENORaT

TEKNOROT REF. F-251
Lateral Arm

g

Weight: 306,2  Length: 0847

MODEL NO BODY CODE

JOURNEY

TEKNOROT REF: F-251
Lateral Arm

g

Weight: 3062  Length.: 0.847
MODEL NO BODY CODE
200 1stGen

YEAR

2009-

YEAR

2011-2014

1
I NOVEMBER

ADAPTABLEFOR JODGE

DIRECTIONS

Rear Upper

OEMNO

66079539AB, 68079539A0,
66079539AE

ADAPTABLEFOR HRYSLER

DIRECTIONS

Rear Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

68079539AB, 68079539A0,
668079539AE



{$ T=NOoROT

TEKNOROT REF: F-813K ADAPTABLEFOR FIAT
Steering Tie Rod Hit with accessories

E———cm— =

4 -

B —

Weight: 25688  Length: 0,738  Bolt Metric: M16X1,5  Housing Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
1341021080, 4001 E4, 4001 E5,
DUCATO 2006- Front 1607744580
TEKNOROT REF.: F-813K ADAPTABLEFOR PEUGEOT

E———cm— =

4 -

B —

Weight: 2588  Length: 0738  Bolt Metric. M16X1,5  Housing Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
110-1.50-1.70H 1341021080, 4001 E4, 4001 E5,
BOXER 200 2006- Front 1607744580

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{$ T=NOoROT

TEKNOROT REF. F-813K
Steering Tie Rod Hit

E———cm— =

4 -

B —

Weight: 25688  Length: 0,738

MODEL NO BODY CODE

JUMPER i

TEKNOROT REF: M-1013
Steering Tie Rod

ctm-mo

Weight: 2392  Length: 0636  Bolt Metric: 14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE

X-CLASS w470

Bolt Metric: M16X1,5  Housing Metric.: M16X1,5

2006- Front

ADAPTABLEFOR I TROEN
with accessories |

YEAR DIRECTIONS

OEMNO

15341021080, 4001 E4, 4001 E5,
1607744580

ADAPTABLEFOR MIERCEDES

YEAR DIRECTIONS OEMNO

2017- Front 4704604800

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: M-563  weensern MERCEDES

Suspension Control Arm and 4matic, w/o ABC
Ball Joint Assembly

Weight: 3605  Length: 2068  Bolt Metric: M16X15

Front Lower
Rearward

S5-CLASS W222 V222 X222 2014- 2223303307

TEKNOROT REF: M-564  weemsern MERCEDES

Suspension Control Arm and — pwp, w/p ABC, w/o Coupe
Ball Joint Assembly

Weight: 359  Length: 2068  Bolt Metric: M16X15

Front Right

Lower Rearward 2223500207

S-CLASS W222 V222 X222 2014-

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 15




TEKNOROT REF: M-565 ADAPTABLEFOR MERCEDES

Suspension Control Arm and — pwp, w/o ABC, w,/o Coupe
Ball Joint Assembly

Weight: 359  Length: 2305  Bolt Metric: M16X15

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
S-CLASS W222\/222 X222 2014- Pearward 2223300107
TEKNOROT REF: MI-481483 ADAPTABLEFOR PEUGEOT

Steering Tie Rod Assembly

-

Weight: 3214  Length: 0.959

MODEL NO BOODY CODE YEAR DIRECTIONS OEMNO
4007 2007-2012 Front 3812F1
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
h MI-481 Tie Rod End Front 4422A002, 4422A052, 1607502480
— MI-483 Axial Joint Front 3812 F1, 4422A012, 4422A057

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF: PO-516 ADAPTABLEFOR PORSCHE
Suspension Stabilizer Bar Link

Weight: 234  Length: 0,384  Bolt Metric: M10X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
911 991 2012-2019 Rear 99133307102
TEKNOROT REF: SB 1215 ADAPTABLEFOR BMW
Lateral Arm bushing

Weight: 65 Length: 0226

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
X3 Fo5 2010-2016 Rear Lower 38326795812+

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
- —a B-787 Lateral Arm Rear Lower 33326795812

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: SB 1215 ADAPTABLEFOR BMW

Lateral Arm bushing

Weight: 65  Length: 0226

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
X4 F26 2014-2018 Rear Lower 33326795812*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
- ——a B-787 Lateral Arm Rear Lower 33326795812
TEKNOROT REF: SB 1327 ADAPTABLEFOR CITROEN
Control Arm Bushing

Weight: 598  Length: 0.35

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SPACETOURER 2016- i O’IZ ﬁgfwer 9816863580*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

; CI-679 Control Arm and | Front Right 9816863580
Ball Joint Assy Lower
! org7g | COMOIAIMAENT | oo o) ower 9816863680
- Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT vEER

TEKNOROT REF: SB 1327 ADAPTABLEFOR (fTROEN

control Arm Bushing

Weight: 588  Length: 035

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
JUMPY I 2016- Front Lower 9816863580*
Inner
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
; C-679 Control AIm and | Front Right 9816863580
Ball Joint Assy Lower
! ore7g | COMOIAIMANT | ook oo ower 9816863680
- Ball Joint Assy
TEKNOROT REF. SB 1327 ADAPTABLEFOR PEUGEOT

Control Arm Bushing

Weight: 598  Length: 0.35

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
EXPERT v 2016- Front Lower 9816863580*
Inner
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
; CI-679 Control Arm and | Front Right 9816863580
Ball Joint Assy Lower
! o679 | ConmolAIMand | Lo o6 ower 9816863680
- Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: SB 1328 ADAPTABLEFOR I TROEN

control Arm Bushing

Weight: 59,7  Length: 0,265

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
SPACETOURER 2016- i Ogiégrwer 9816863680*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

; C-679 Control AIm and | Front Right 9816863580
. Ball Joint Assy Lower
! ore7g | COMOIAIMANT | ook oo ower 9816863680
- Ball Joint Assy
TEKNOROT REF: SB 1328 ADAPTABLEFOR GfTROEN

Control Arm Bushing

Weight: 597  Length. 0285

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower N
JUMPY i 2016- Outer 9816863680
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
; CI-679 Control Arm and | Front Right 9816863580
- Ball Joint Assy Lower
! org7g | COMOIAIMAENT | oo o) ower 9816863680
- Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: §8 1328 ADAPTABLEFOR PEUGEOT
Control Arm Bushing

Weight: 597  Length: 0285

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower .
EXPERT V 2016- Outer 9816863680
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Control Arm and Front Right 9816863580
Ball Joint Assy Lower

! cre79 | CONIOIATMENG | ooy oft ) ower 9816863680

CI-678

Ball Joint Assy

TEKNOROT REF: SB 1334 ADAPTABLEFOR BMW
Control Arm Bushing hydraulic bush Z

O

p

Weight: 80 Length: 0.702

MODEL NO BODY CODE VEAR DIRECTIONS ODEMNO

1-SERIES F20, F21 2011- i ggf VLV%H 31126854724% 31126854723
COMPONENTS NUMBER NAME DIRECTIONS OEMNO

= B-10081 gg’m ‘7[/7 ?2\”878?/ i ngﬁfm 31126854724

V=P B-10091 gg’m ‘7[/7 ?2\”878?/ Front Left Lower 31126854723

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT Bever:

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: SB 1334 ADAPTABLEFOR BMW
Control Arm Bushing hydraulic bush

-

Weight: 80 Length: 0.702

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
Front Lower . .
3-SERIES F30 2012-2018 Forward 31126854724%, 31126654723
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
; : Control Arm & Front Right
[~ B-10081 Ball Joint Assy L ower 31126654724

; £ : Control Arm &
P B-10091 Ball Joint Assy Front Left Lower 31126854723

TEKNOROT REF: SB 1334 ADAPTABLEFOR BMW
Control Arm Bushing hydraulic bush

© .

-

Weight: 80 Length: 0.702

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
4-SERIES F32 2014- i ggf VLV%H 31126854724% 31126854723
COMPONENTS NUMBER NAME DIRECTIONS DEMNO
P gaoosr | 2o ?2\”878?/ Front RGNt 31126854724
VPP B-10091 CONIOIATM & 1 o) ot | ower 31126854723

Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



! a

£\ TeXNOROT m

&%J STEERING 6 SUSPENSION PARTS

TEKNOROT REF: AC-158 ADAPTABLEFOR ACURA
Lateral Arm

Weight: 312 Length: 352  Bolt Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
7L 4t GEA”QUAB " 2009-2014  Rear Right Upper 52510TACAD2
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
'.1}.
‘ AC-254 Ball Joint Rear Upper 52510TADAO2 *
TEKNOROT REF: AC-159 ADAPTABLEFOR ACLIRA
Lateral Arm

Weight: 312  Length: 352  Bolt Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
7L 4 GEZ'QUAB‘ 2009-2014  Rear Left Upper 52520TACAD2
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
b
‘ AC-254 Ball Joint Rear Upper 52510TACAO2 *

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: AC-158 ADAPTABLEFOR HONDA
Lateral Arm

Weight: 312 Length: 352  Bolt Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
ACCORD Vil 2008-2012  Rear Right Upper 52510TACAD2
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
1
‘ AC-254 Ball Joint Rear Upper 52510TADAO2 *
TEKNOROT REF: AC-159 ADAPTABLEFOR HONIA
Lateral Arm

Weight: 312  Length: 352  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ACCORD Vill 2008-2012  Rear Left Upper 52520TADAD2
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
W
‘ AC-254 Ball Joint Rear Upper 52510TACAO2 *

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ry
{5 T=NOROT

TEKNOROT REF: AC-254
Suspension Ball Joint

B

Weight: 1044 Length: 0495  Bolt Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS
7 ANGen UAG- 5509.0014  Rear Upper
UAS
COMPONENTS NUMBER NAME DIRECTIONS
& AC-158 Lateral Arm | Rear Right Upper
q AC-159 Lateral Arm Rear Left Upper
TEKNOROT REF: AC-254
Suspension Ball Joint

B

Weight: 1044  Length: 0495  Bolt Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
ACCORD Vill 2008-2012 Rear Upper
COMPONENTS NUMBER NAME DIRECTIONS
& AC-158 Lateral Arm | Rear Right Upper
q AC-159 Lateral Arm Rear Left Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR ACUIRA

OEMNO

52510TADADZ", 52520TADADZ*

OEMNO

52510TADADZ

52520TAUADZ

ADAPTABLEFOR HONDA

OEMNO

52510TAUADZ", 52520TADADZ*

OEMNO

52510TADADZ

52520TAUADZ



N TNOROT

& STEERING 6 SUSPENSION PARTS VEMBER

TEKNOROT REF: H-1001 ADAPTABLEFOR HONDA
Steering Tie Rod End

.

Weight: 169  Length. 0456  Bolt Metric: M10X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
JAZZ v 2015- Front Right 53540T5A003
TEKNOROT REF: H-1002 ADAPTABLEFOR HONDA
Steering Tie Rod End

£

Weight: 169  Length: 0456  Bolt Metric. M10X1,25  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

JAZZ v 2015- Front Left 53560T5A003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

A T=
“ STEERING 6 SUSPENSION PARTS

TEKNOROT REF: H-1004 ADAPTABLEFOR. HONDA
Suspension Ball Joint

Weight: 845  Length: 0247  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
JAZZ v 2015- Front Lower 51350T5AJ01% 51360T5AJ01*
TEKNOROT REF. I-104K ADAPTABLEFOR [SLJZL/
Suspension Ball Joint with accessories

—

=

8858

W,

Weight: 55,7  Length: 0832  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

D-MAX 4X2 2002-2006 Front 8972357770, 8980058270

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: KI-478  vraeor gl

Suspension Control Arm and
Ball Joint Assembly

Weight: 381  Length: 4,188

: Front Right
SOUL pS 2014 Lower 5450182000
SB 1065
SB 1054
‘ - 3 KI-604 Ball Joint Front Lower 5450182000% 5450082000*
&

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 28




TEKNOROT REF: KI-479  vraeor gl

Suspension Control Arm and
Ball Joint Assembly

-

Weight: 381  Length: 4,188

SOouUL PS 2014- Front Left Lower 54500B2000
SB 1065
SB 1054
‘ - 3 KI-604 Ball Joint Front Lower 5450182000% 5450082000*
&

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 29




e
{5 TXNOROT

TEKNOROT REF: KI-568

Suspension Control Arm and
Ball Joint Assembly

Weight: 327  Length: 23977

MODEL NO BODY CODE
PICANTO JA
COMPONENTS NUMBER
. 5B 702
‘ 5B 448
g KI-564

In VEMBER

ADAPTABLEFOR KA

YEAR DIRECTIONS

2017- Front Right
Lower

NAME DIRECTIONS

Ball Joint Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

5450166000

OEMNO

5450066000



[ =
{» T&XNOROT

TEKNOROT REF: KI-5669

Suspension Control Arm and
Ball Joint Assembly

ADAPTABLEFOR KA

Weight: 327  Length: 23977 Ees =S
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO

PICANTO JA 2017- Front Left Lower 5450066000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

. 5B 702
‘ 5B 448

g Kl-564 Ball Joint Front Lower 5450066000

ADAPTABLEFOR H(IA

TEKNOROT REF. KI-5961

oot assemtly 006.201
y 2006-2012

=

4
e

Weight: 209  Length. 7129  Bolt Metric. M18X1,5

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
BONGO 2006- Fr ‘ZE /féfm 54420-4E001, 54420-4E200

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. KI-6991

Suspension Control Arm and
Ball Joint Assembly

§

Weight: 209  Length: 7129  Bolt Metric: M18X15
MODEL NO BOODY CODE

BONGO

TEKNOROT REF: KI-601
Steering Tie Rod End

»

t4"
«

Weight: 125  Length: 0641  Bolt Metric: M12X1,25

MODEL NO BODY CODE

SPORTAGE NB7

YEAR ONLY

2006-2012

YEAR

2006-

Housing Metric. M18X1,5

YEAR

1993-2004

DIRECTIONS

Front Left Upper

DIRECTIONS

Front Right Inner

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR KA

OEMNO

54410-4E001, 54410-4E200

ADAPTABLEFOR KA

OEMNO

OKO1132290A%



TEKNOROT REF: KI-602
Steering Tie Rod End

¥

Weight: 125  Length. 0641  Bolt Metric: M12X1.25  Housing Metric. M18X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO

SPORTAGE NB7 1993-2004  Front Left Inner OK01132270A%
TEKNOROT REF: KI-601 ADAPTABLEFOR (I
Steering Tie Rod End

»

t4"
«

Weight: 125  Length: 0641  Bolt Metric: M12X1.25  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RETONA 1998-2003  Front Right Inner OKO1132290A*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: KI-602 ADAPTABLEFOR (I
Steering Tie Rod End

¥

Weight: 125  Length. 0641  Bolt Metric: M12X1,25  Housing Metric. M18X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
RETONA 1998-2003  Front Left Inner OK01132270A%
TEKNOROT REF: KI-611 ADAPTABLEFOR (I
Steering Tie Rod End i

a#s

Weight: 131  Length: 0,772  Bolt Metric: M12X1,25  Housing Metric: M16X1,5 ;1

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SPORTAGE NB7 1993-2004  Front Right Outer OKO1132280A%

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{$ T=NOoROT

TEKNOROT REF: KI-612
Steering Tie Rod End

287

L

Weight: 131  Length. 0,772  Bolt Metric: M12X1,25  Housing Metric. M18X1,5 ;1

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO

SPORTAGE NB7 1993-2004  Front Left Outer OK01132270A%
TEKNOROT REF: KI-611 ADAPTABLEFOR (I
Steering Tie Rod End

a#s

Weight: 131  Length: 0,772  Bolt Metric: M12X1,25  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RETONA 1998-2003  Front Right Outer OKO1132290A*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: HI-612 ADAPTABLEFOR I/
Steering Tie Rod End

Weight: 131  Length. 0,772  Bolt Metric: M12X1.25  Housing Metric. M18X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
RETONA 18998-2003 Front Left Outer OKO1132270A*
TEKNOROT REF: HI-628 ADAPTABLE FOR I/
4 2008-2011

| S 2 o =
] [T — Clfn
|

Weight: 3492  Length: 374  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
PICANTO (BA) 2004-2011 Lower 5450107361
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
: =
é HY-525 Ball Joint Front Lower 5450120000% 5450338A00*
SB642

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF.: KI-629 ADAPTABLEFOR KA
Suspension Control Arm and

. YEAR ONLY
Ball ./_alntAssemb/y 2008-2011

&fﬁ“

f Y e T

( ps f G A
o

Weight: 3492 Length: 374  Bolt Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
PICANTO (BA 2004-2011  Front Left Lower 5450007361
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
*
é HY-525 Ball Joint Front Lower 545012C000* 5450338A00*
SB642
TEKNOROT REF: LX-315 ADATABLEFOR | EXLJS
Suspension Ball Joint 4X2

__f%"r-

Weight: 832  Length: 0,218  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

GS 3rd Gen (5190) 2005-2011 Front Upper 4861039125 4863039065%

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




ry
{5 T=NOROT

TEKNOROT REF: MA-3980 ADAPTABLEFOR MAZDA
Lateral Arm

Weight: 576 Length: 3074

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
3 BM 2014-2019  Rear Right Lower B45A28300C
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1065
SB 1054
TEKNOROT REF: MA-3981 ADAPTABLEFOR MAZDIA
Lateral Arm

Weight: 576  Length: 3074

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
3 BM 2014-2019 Rear Left Lower B45A28350C
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1065
SB 1054

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF: MA-881 ADAPTABLEFOR MIAZ A
Steering Tie Rod End

h.:_‘:},_

Weight: 181  Length: 0,645  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
2 DJ 2014- Front Right DABT32280
TEKNOROT REF: MA-882 ADAPTABLEFOR MIAZ A
Steering Tie Rod End
e

Weight: 181  Length: 0645  Bolt Metric. M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

2 oJ 2014- Front Left DABT32250

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

K) STEERING 6§ SUSPENSION PARTS EMBER

TEKNOROT REF: MI-481483 ADAPTABLEFOR MIITSUBISH/
Steering Tie Rod Assembly

-

Weight: 3214  Length: 0,959

MODEL NO BODY CODE YEAR DIRECTIONS ODEMNO
OUTLANDER / 2001-2006 Front 3812F1
COMPONENTS NUMBER NAME DIRECTIONS ODEMNO
»
h MI-481 Tie Rod End Front 4422A002, 4422A052, 1607502480
— MI-483 Axial Joint Front 3812.F1, 4422A012, 4422A057
TEKNOROT REF: MI-481483 ADAPTABLEFOR MIITSUBISHI/

Steering Tie Rod Assembly

-

Weight: 3214  Length: 0959

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
OUTLANDER I 2006-2012 Front 3812F1
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
-
h MI-481 Tie Rod End Front 4422A002, 4422A052, 1607502480
— MI-483 Axial Joint Front 3612 F1, 4422A012, 4422A057

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




/A TKNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: MI-481483
Steering Tie Rod Assembly

-

Weight: 3214  Length: 0,959

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
OUTLANDER 1l 2012- Front 3812F1
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
_’
‘- MI-481 Tie Rod End Front 44224002, 44224052, 1607502480

—_— MI-483 Axial Joint Front 3812F1, 4422A012, 44224057
TEKNOROT REF: MI-658 ADAPTABLEFOR MIITSUBISH/
Suspension Control Arm and
Ball Joint Assembly

Weight: 367  Length: 4188  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
COLT v 1996-2002 - MR241342
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
", MI-774 Ball Joint Front Lower MR241341* MR241342*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



OVEMBER

TEKNOROT REF: MI-659 ADAPTABLEFCR M/ TSUB/ISH/

Suspension Control Arm and
Ball Joint Assembly

-

/A TECNOROT

STEERING 6 SUSPENSION PARTS

Weight: 367  Length: 4188  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

COoLT % 1996-2002  Front Left Lower MR241341

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
N Ball Joint Front Lower MR241341% MR241342*

’ MI-774

TEKNOROT REF: MI-658 ADAPTABLEFOR MIITSUBISHI

Suspension Control Arm and
Ball Joint Assembly

Weight: 367  Length: 4188  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
LANCER Vi 1996-2001 - MR241342
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
", MI-774 Ball Joint Front Lower MR241341* MR241342*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

k) STEERING 6§ SUSPENSION PARTS EMBER

TEKNOROT REF: MI-659 ADAPTABLEFOR MIITSUBISH/

Suspension Control Arm and
Ball Joint Assembly

-

Weight: 367  Length. 4188  Bolt Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

LANCER % 1996-2001  Front Left Lower MR241341

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
X Ball Joint Front Lower MR241341% MR241342*

‘ MI-774

TEKNOROT REF: MI-784 ADAPTABLEFOR MIITSUBISH/
Suspension Ball Joint VEAR ONLY
A 2010-2012

Weight: 795  Length: 0465  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

L200 [(KA4T.KBAT) 2005-2015 Front Upper 4010A102*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TECNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: N-1031

Steering Center Link
"__J
Weight: 778  Length: 2989  Bolt Metric: M12X1,25
MODEL NO BODY CODE YEAR
PICKUP (D22) (4WD) 1998-2012
TEKNOROT REF: SB 1094
Control Arm Bushing
<
Weight: 496  Length.: 0167
MODEL NO BODY CODE YEAR
LANCER (CS A) 2003-2008
COMPONENTS NUMBER NAME
TNy MI-467 Lateral Arm
JE-3381 Lateral Arm

OVEMBER

ADAPTABLEFOR NISSAN

DIRECTIONS

Front

OEMNO

504825, 4856035125, 4856035185,
DE560VKYIA

ADAPTABLEFOR MIITSLIBISH/

DIRECTIONS

Rear Upper

DIRECTIONS

Rear Upper

Rear Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

5106271AC

OEMNO

MR4915911

5105271AC, 5105271AA, 5105271AB



{5 T&NOROT e

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: 8B 1283
Control Arm Bushing

Weight: 445  Length: 0163

ADAPTABLEFOR HYUNDA/

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO

X35 LM 2010-2015 Rear 556250251007 5525025110*
COMPONENTS NUMBER NAME DIRECTIONS ODEMNO

e HY-10092 Lateral Arm Rear 5525025100, 5525025110

TEKNOROT REF: SB 1283 ADAPTABLEFOR HYUNDA/
Control Arm Bushing

Weight: 445  Length: 0163

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO

TUCSON 2nd Gen 2010-2015 Rear 55260251007 5525025110*
COMPONENTS NUMBER NAME DIRECTIONS ODEMNO

e HY-10092 Lateral Arm Rear 5525025100, 5525025110

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF. T-1013 ADAPTABLEFOR TOYOTA

Steering Tie Rod Power Steering

Weight: 3302  Length: 06

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

COROLLA F100FuroMade — 1992-1997 Front 4550319205
TEKNOROT REF: BU-191196 ADAPTABLEFOR BLNIGH
Steering Tie Rod Assembly AWD

~.—

Weight: 433  Length: 135  Bolt Metric. M16X15  Housing Metric. M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RENDEZVOUS 2002-2007 Rear 19298748
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Oy BU-191 Tie Rod End Rear Outer 868879501, 156232854*, 10412911

e BU-196 Axial Joint Rear 19288748, 15252854*, 10412911*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



~\ TXNOROT

A 1=
\‘ STEERING 6 SUSPENSION PARTS I

TEKNOROT REF: BU-191196 ADAPTABLEFOR CHEVROLET
Steering Tie Rod Assembly AWD

~.—

Weight: 433  Length: 135  Bolt Metric: M16X15  Housing Metric. M16X2

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
UPLANDER 2005-2008 Rear 19298748
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
R BU-191 Tie Rod End RearOuter | 88879501, 15232854% 10412911*
—_— BU-196 Axial Joint Rear 19298748, 15232854*, 10412911
TEKNOROT REF. BU-191196 A N T TAC
Steering Tie Rod Assembly AWD

~.—

Weight: 433 Length: 135  Bolt Metric: MI6X15  Housing Metric: M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

AZTEK 2001-2005 Rear 19298748

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Oy BU-191 Tie Rod End Rear Outer 868879501, 156232854*, 10412911
e BU-196 Axial Joint Rear 19288748, 15252854*, 10412911*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

k STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: BU-191196

Steering Tie Rod Assembly AWD

~.—

Weight: 433  Length: 135  Bolt Metric: M16X15  Housing Metric. M16X2
MODEL NO BODY CODE YEAR DIRECTIONS
RELAY 2005-2007 Rear
COMPONENTS NUMBER NAME DIRECTIONS
(S BU-191 Tie Rod End Rear Outer
e BU-196 Axial Joint Rear
TEKNOROT REF: BU-196
Steering Tie Rod AWD
e e | e
Weight: 2732  Length: 0661  Bolt Metric: M16X1,5  Housing Metric: M16X2
MODEL NO BODY CODE YEAR DIRECTIONS
RENDEZVOUS 2002-2007 Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OVEMBER

ADAPTABLEFOR SA TURN

OEMNO

19298748

OEMNO

868875501, 15232854* 10412911%

19298748, 15232854%, 10412911

ADAPTABLEFOR BLIICKH

OEMNO

20761142, 19296748



TEKNOROT REF. BU-196 ADAPTABLEFOR CHEVROLET
Steering Tie Rod AWD

Weight: 2732  Length: 0661  Bolt Metric: M16X15  Housing Metric. M16X2

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO

UPLANDER 2005-2008 Rear 20761142, 19296748
TEKNOROT REF.: BU-196 ADAPTABLEFCR PONTIAC
Steering Tie Rod AWD

Weight: 2732  Length: 0661  Bolt Metric: M16X1,5  Housing Metric: M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

AZTEK 2001-2005 Rear 20761142, 19298748

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeNOROT

(B TE
\‘ STEERING 6 SUSPENSION PARTS

TEKNOROT REF. BU-196 ADAPTABLEFOR SATURN
Steering Tie Rod AWD

Weight: 2732  Length: 0661  Bolt Metric: M16X15  Housing Metric. M16X2

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
RELAY 2005-2007 Rear 20761142, 19296748
TEKNOROT REF. CD-176 ADAPTABLE FOR CAD/LLA[J’
Suspension Stabilizer Bar Link plastic type LR '

Weight: 245  Length: 0,283  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

C7s 3rd Gen 2014- Front Right 20761142

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




A TXNOROT

(A TE |
“ STEERING 6 SUSPENSION PARTS i

TEKNOROT REF. CD-176 ADAPTABLEFOR GHEVROLET
Suspension Stabilizer Bar Link plastic type e :

Weight: 245  Length: 0,283  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CAMARO Bth Gen 2016- Front Right 20761142
TEKNOROT REF. CD-177 ADAPTABLEFOR CADILLAC
Suspension Stabilizer Bar Link plastic type i "

Weight: 245  Length: 0,283  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

IR 3rd Gen 2014- Front Left 20761141

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. CO-177 ADAPTABLEFOR GHEVROLET

Suspension Stabilizer Bar Link plastic type

Weight: 245  Length: 0,283  Bolt Metric: M12X1,75

&

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CAMARO 6th Gen 2016- Front Left 20761141

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. CH-1008

Suspension Control Arm and
Ball Joint Assembly

Weight: 5875  Length: 20,683  Bolt Metric: M16X2

MODEL NO BODY CODE
SILVERADO 2500 2nd Gen
COMPONENTS NUMBER
I CH-465
‘ SB1271
. SB 1272
o SB 1273

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2011-2018

NAME

Ball Joint

Control Arm
Bushing

Control Arm
Bushing

Control Arm
Bushing

OVEMBER

ADAPTABLEFOR GHEVROLET

DIRECTIONS

Front Right
Lower

DIRECTIONS

Front Lower

Front Lower

Front Lower

Front Lower

OEMNO

22649592

OEMNO

19256656

22829592* 22849591*

22629592* 22649591

22629592* 22649591



[ =
{» T&XNOROT

TEKNOROT REF. CH-1008 ADAPTABLEFCR GMIC

Suspension Control Arm and
Ball Joint Assembly

Weight: 5875 Length: 20583  Bolt Metric: M16X2

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
SIERRA 2500 ond Gen 2011-2018 i ‘Z’; rwgggm 29849592
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

3 CH-465 Ball Joint Front Lower 19256656

‘ Control Arm

_ SB1271 ) Front Lower 228295892* 22849591
Bushing

‘ SB 1272 tontrol Arm Front Lower 22829592* 22849591
Bushing

0 Control Arm

SB 1273 ; Front Lower 22829582* 22849591*

Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TECNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. CH-1008

Suspension Control Arm and
Ball Joint Assembly

Weight: 5675  Length: 20583  Bolt Metric: M16X2

MODEL NO BODY CODE
SILVERADO 3500 2nd Gen
COMPONENTS NUMBER
I CH-465
‘ SB1271
' SB 1272
o SB 1273

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2011-2018

NAME

Ball Joint

Control Arm
Bushing

Control Arm
Bushing

Control Arm
Bushing

OVEMBER

ADAPTABLEFOR GHEVROLET

DIRECTIONS

Front Right
Lower

DIRECTIONS

Front Lower

Front Lower

Front Lower

Front Lower

OEMNO

22649592

OEMNO

19256656

22829592* 22849591*

22629592* 22649591

22629592* 22649591



44 5 T&KNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. CH-1008

Suspension Control Arm and
Ball Joint Assembly

Weight: 5675  Length: 20583  Bolt Metric: M16X2

MODEL NO BODY CODE
SIERRA 3500 2nd Gen
COMPONENTS NUMBER

s CH-465
‘ SB1271
' SB1272
. SB1273

YEAR

2011-2018

NAME

Ball Joint

Control Arm
Bushing

Control Arm
Bushing

Control Arm
Bushing

NOVEMBER

ADAPTABLEFOR GMC

DIRECTIONS

Front Right
Lower

DIRECTIONS

Front Lower

Front Lower

Front Lower

Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

22649592

OEMNO

19256656

22829592* 22849591*

22829592* 22849591*

22829592* 22849591



e 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. CH-1009

Suspension Control Arm and
Ball Joint Assembly

Weight: 5875  Length: 20,683  Bolt Metric: M16X2

MODEL NO BODY CODE
SILVERADO 2500 2nd Gen
COMPONENTS NUMBER
I CH-465
‘ SB1271
. SB 1272
o SB 1273

YEAR

2011-2018

NAME

Ball Joint

Control Arm
Bushing

Control Arm
Bushing

Control Arm
Bushing

OVEMBER

ADAPTABLEFOR GHEVROLET

DIRECTIONS

Front Left Lower

DIRECTIONS

Front Lower

Front Lower

Front Lower

Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

22649581

OEMNO

19256656

22829592* 22849591*

22629592* 22649591

22629592* 22649591



[ =
{» T&XNOROT

TEKNOROT REF. CH-1009

Suspension Control Arm and
Ball Joint Assembly

Weight: 5875 Length: 20583  Bolt Metric: M16X2

MODEL NO BODY CODE
SIERRA 2500 2nd Gen
COMPONENTS NUMBER
5 CH-465
‘ SB1271
‘ SB 1272
0 SB 1273

YEAR

2011-2018

NAME

Ball Joint

Control Arm
Bushing

Control Arm
Bushing

Control Arm
Bushing

ADAPTABLEFOR GMC

DIRECTIONS

Front Left Lower

DIRECTIONS

Front Lower

Front Lower

Front Lower

Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

22649581

OEMNO

19256656

22829592* 22849591*

22629592* 22649591

22629592* 22649591



/A TECNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. CH-1009

Suspension Control Arm and
Ball Joint Assembly

Weight: 5675  Length: 20583  Bolt Metric: M16X2

MODEL NO BODY CODE
SILVERADO 3500 2nd Gen
COMPONENTS NUMBER
I CH-465
‘ SB1271
' SB 1272
o SB 1273

YEAR

2011-2018

NAME

Ball Joint

Control Arm
Bushing

Control Arm
Bushing

Control Arm
Bushing

OVEMBER

ADAPTABLEFOR GHEVROLET

DIRECTIONS

Front Left Lower

DIRECTIONS

Front Lower

Front Lower

Front Lower

Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

22649581

OEMNO

19256656

22829592* 22849591*

22629592* 22649591

22629592* 22649591



44 5 T&KNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. CH-1009

Suspension Control Arm and
Ball Joint Assembly

Weight: 5675  Length: 20583  Bolt Metric: M16X2

MODEL NO BODY CODE
SIERRA 3500 2nd Gen
COMPONENTS NUMBER

s CH-465
‘ SB1271
' SB1272
. SB1273

YEAR

2011-2018

NAME

Ball Joint

Control Arm
Bushing

Control Arm
Bushing

Control Arm
Bushing

NOVEMBER

ADAPTABLEFOR GMC

DIRECTIONS

Front Left Lower

DIRECTIONS

Front Lower

Front Lower

Front Lower

Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

22649581

OEMNO

19256656

22829592* 22849591*

22829592* 22849591*

22829592* 22849591



[ =
{» T&XNOROT

TEKNOROT REF. CH-1015

Suspension Ball Joint 4WD
—
8 o
g "
sl X ' B, B,
Weight: 1145  Length. 1161  Bolt Metric. M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
BLAZER 1stGen 15992-15954 Front Lower
TEKNOROT REF. CH-1015
Suspension Ball Joint 4WD
i YEAR ONLY
Y 1992-19395
8. 1
g "
sl X ' B, B,
Weight: 1145  Length: 1161  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
SUBURBAN 8th Gen 1992-1599 Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

EMBER

ADAPTABLEFOR GHEVROLET

OEMNO

15687079

ADAPTABLEFOR CHEVROLET

OEMNO

15687079



{$ T=NOoROT

TEKNOROT REF. CH-1015

Suspension Ball Joint
_ﬂ—q'f'h"‘
8.
i <

Weight: 1145  Length. 1161  Bolt Metric. M16X1,5

MODEL NO BOOY CODE YEAR
ASTRO 2nd Gen 1995-2005
TEKNOROT REF. CH-1015
Suspension Ball Joint
—8
8
D .
sl o B,
l)/_‘:l
Weight: 1145  Length. 1161  Bolt Metric: M16X1,5
MODEL NO BOOY CODE YEAR
SAFAR/ 2nd Gen 18995-2005

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

4wD

MBER

ADAPTABLEFOR OHEVROLET

DIRECTIONS

Front Lower

4wWD

OEMNO

15687079

ADAPTABLEFOR GMC

DIRECTIONS

Front Lower

OEMNO

15687079



-
{5 TXNOROT

TEKNOROT REF: CH-1015 ADAPTABLEFOR GMIC
Suspension Ball Joint 4AWD
B YEAR ONLY
“9 1992-1995
8 1u
< = &, & B P,

Weight: 1145  Length. 1161  Bolt Metric. M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
YUKON 1stGen 1892-2000 Front Lower 15687079
TEKNOROT REF: CH-1023 ADAPTABLEFOR GHEVROLET
Steering Tie Rod VEAR ONLY
2002-2003

@)

Weight: 135  Length: 0534  Bolt Metric: M14X1,5  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TRAILBLAZER 1st Gen 2002-2009 Front 260895396

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



~\ TXNOROT

(A TE |
\‘ STEERING 6 SUSPENSION PARTS '

TEKNOROT REF: CH-1023 ADAPTABLEFOR GMIC

Steering Tie Rod VEAR ONLY

2002-2003

@)
Weight: 135  Length. 0634  Bolt Metric: M14X15  Housing Metric: M16X1,5
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
ENVOY 2nd Gen 2002-2009 Front 26089596
TEKNOROT REF. CH-1082 ADAPTABLE FOR DHE VROL E T
Lateral Arm ; g

" 4

Weight: 227  Length.: 106

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MALIBU 7th Gen 2004-2012 Rear 25850210

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENOROT vevosn

STEERING 6 SUSPENSION PARTS

ADAPTABLEFOR GHEVROLET

TEKNOROT REF: CH-1182
Lateral Arm

Weight: 6165  Length: 1167

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
Rear Lower
MALIBU 6th Gen 1897-2004 Pearward 22606764

ADAPTABLEFOR CHEVROLET

TEKNOROT REF: CH-346
Suspension Stabilizer Bar Link

-8

Weight: 100  Length. 0211

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MALIBU 6th Gen 1997-2005 Rear Right 22601062

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. CH-347 ADAPTABLEFOR GHEVROLET
Suspension Stabilizer Bar Link

e |

Weight: 100  Length: 0,211

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MALIBU Bth Gen 1997-2005 Rear Left 22601060
TEKNOROT REF: CH-368 ADAPTABLEFOR GHEVROLET
Suspension Control Arm and

Ball Joint Assembly

Weight: 422 Length: 11008  Bolt Metric: M16X1,5

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
EXPRESS 1500 15t Gen 1996-2002 " o f/fgfm 15665555
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

™

‘ OH-825 Ball Joint FrontLower | 15659724 15616427 15657212
SB 1173
SB1174

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



OVEMBER

TEKNOROT REF. CH-368 ADAPTABLEFOR GHEVROLET

Suspension Control Arm and
Ball Joint Assembly

/A TECNOROT

STEERING 6 SUSPENSION PARTS

Weight: 422 Length: 11008  Bolt Metric. M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
TAHOE 1st Gen 1992-2000 Lower 15665555
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i
‘ CH-825 Ball Joint Front Lower 15659724, 15616427, 15657212
SB1173
SB1174
TEKNOROT REF: CH-369 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and 7 LIS

Ball Joint Assembly

Weight: 422 Length: 11,008  Bolt Metric. M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
EXPRESS 1500 1st Gen 1996-2002  Front Left Lower 15665554
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

i

‘ CH-825 Ball Joint Front Lower 156539724, 15616427, 15657212
SB1173
SB 1174

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



‘A TXNOROT

k STEERING 6 SUSPENSION PARTS BER
TEKNOROT REF: CH-369 ADAPTABLEFOR GHEVROLET
Suspension Control Arm and

Ball Joint Assembly

Weight: 422  Length: 11,008  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
TAHOE st Gen 1992-2000  Front Left Lower 15665554
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
&
‘ CH-825 Ball Joint Front Lower 15659724, 15616427, 16657212
SB1173
SB1174
TEKNOROT KEF. CH-998 e VROLET
Suspension Control Arm and RWD

Ball Joint Assembly

Weight: 464  Length. 10408  Bolt Metric: M16X2

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
Front Right
SILVERADO 1500 1stGen, GMTEB00  1899-2006 L ower 12478068
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
e
Q CH-1014 Ball Joint Front Lower 15750786% 156015515*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeNOROT

(B TE
\‘ STEERING 6 SUSPENSION PARTS

TEKNOROT REF. CH-998 ADAPTABLEFCR GMIC

Suspension Control Arm and RWD
Ball Joint Assembly

Weight: 464  Length: 10408  Bolt Metric. M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SIERRA 1500 1st Gen 1999-2007 Fr ‘Z’; twggf e 12478068
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ CH-1014 Ball Joint Front Lower 15750786%* 15015515*
TEKNOROT REF: CH-998 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and RWD
Ball Joint Assembly

Weight: 464  Length: 10408  Bolt Metric. M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SUBLIRBAN 9th Gen 2000-2006 Fr CZ’; ;/Aggm 12478068

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ CH-1014 Ball Joint Front Lower 15750786%* 156015515*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: CH-999 ADAPTABLEFOR GHEVROLET

Suspension Control Arm and PWD
Ball Joint Assembly

Weight: 464  Length. 10408  Bolt Metric: M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SILVERADO 1500 1stGen, GMTB00  1999-2006  Front Left Lower 12478067
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i CH-1014 Ball Joint Front Lower 157507867 15015515*
TEKNOROT REF: CH-999 ADAPTABLEFOR GMIC
Suspension Control Arm and RWD

Ball Joint Assembly

Weight: 464  Length: 10408  Bolt Metric. M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SIERRA 1500 1st Gen 1899-2007  Front Left Lower 12478067
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

i CH-1014 Ball Joint Front Lower 15750786% 156015515*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



44 5 T&KNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: CH-999

Suspension Control Arm and
Ball Joint Assembly

Weight: 464  Length: 10408  Bolt Metric. M16X2

MODEL NO BOOY CODE
SUBURBAN 9th Gen
COMPONENTS NUMBER
CH-1014

¥

TEKNOROT REF: CR-420
Suspension Stabilizer Bar Link

Weight: 603  Length. 0,361
MODEL NO BODY CODE
SEBRING FI/IX

Boit Metric: M12X1,75

NOVEMBER

ADAPTABLEFOR GHEVROLET

RWD
YEAR DIRECTIONS OEM NO
2000-2006  Front Left Lower 12478067
NAME DIRECTIONS OEM NO
Ball Joint Front Lower 15750786% 156015515%
ADAPTABLEFOR (HRYSL ER

YEAR DIRECTIONS OEM NO
18995-2000 Front 4695626

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TNOROT

& STEERING 6 SUSPENSION PARTS VEMBER

TEKNOROT REF: CR-420 ADAPTABLEFOR GHRYSLER
Suspension Stabilizer Bar Link o »

Weight: 603 Length: 0361  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SEBRING ST22/IR 2001-2006 Front 4695626
TEKNOROT REF: CR-420 ADAPTABLEFOR CHRYSLER

Suspension Stabilizer Bar Link

Weight: 603 Length: 0,361  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CIRRUS 1st Gen 1995-2000 Front 4695626

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT NOVEVBER

TEKNOROT REF: CR-420 AAPTABLEFOR DOLGE
Suspension Stabilizer Bar Link

Weight: 603 Length: 0361  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

STRATUS 1stGen 1995-2000 Front 4695626
TEKNOROT REF: CR-433 ADAPTABLEFOR [JODGE
Steering Tie Rod

- —

Weight: 295  Length: 0,526  Bolt Metric: M14X1,5  Housing Metric.: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

NEON 2003-2005 Front 68039885AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

k) STEERING 6§ SUSPENSION PARTS EMBER

TEKNOROT REF: CR-433 ADAPTABLEFOR CHRYSLER
Steering Tie Rod

- —

Weight: 295  Length: 0,526  Bolt Metric: M14X1,5  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PT CRUISER 2000-2010 Front 68039685AA
TEKNOROT REF: DO-363 ADAPTABLEFOR [JODGE
Steering Tie Rod -

-.—-—D

Weight: 249 Length: 0699  Bolt Metric: M16X15  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

DAKOTA Znd Gen 2000-2004 Front 52106405A1, EV432

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT vEER

TEKNOROT REF: DO-363 ADAPTABLEFOR [JODGE
Steering Tie Rod

= ————y

Weight: 249  Length: 0699  Bolt Metric: M16X15  Housing Metric. M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO

DURANGO 1st Gen 1998-2003 Front 521064054, EV432
TEKNOROT REF. FO-1086 ADAPTABLEFOR (R[]
Suspension Stabilizer Bar Link plastic type

5.

Weight: 272  Length: 03687  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TAURUS 3rd Gen 1996-1999 Front Right 86912266

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: FO-1087 ADAPTABLEFOR FOR[
Suspension Stabilizer Bar Link plastic type

H

Weight: 272 Length. 0,387  Bolt Metric: M12X1,75

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
TAURUS 3rd Gen 1996-1999 Front Left 86912265
TEKNOROT REF. FO-1086 ADAPTABLEFOR (R[]
Suspension Stabilizer Bar Link plastic type

5.

Weight: 272  Length: 0387  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TAURUS 4th Gen 2000-2007 Front Right 86912266

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{$ T=NOoROT

TEKNOROT REF: FO-1087 ADAPTABLEFOR FOR[
Suspension Stabilizer Bar Link plastic type

'3

Weight: 272 Length: 0387  Bolt Metric. M12X1,75

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
TAURUS 4th Gen 2000-2007 Front Left 88912265
TEKNOROT REF: FO-1096 ADAPTABLEFOR (R[]
Suspension Stabilizer Bar Link
P YEAR ONLY
% 2004-2005
>
Weight: 1485  Length: 0682  Bolt Metric.: M14X2
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
F-150 11th Gen 2004-2008 Front EUZZ5KAB3A, ALSZ5HABITA

EUZ75K483B

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: FO-1097 ADAPTABLEFOR FOR[
Suspension Stabilizer Bar Link

>

Weight: 263  Length: 0662  Bolt Metric: M12X1,75

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
EXPLORER SPORT TRAC 1st Gen 2001-2006 Rear 5L275K484AB
TEKNOROT REF. FO-1308 ADAPTABLEFOR (R[]
Suspension Control Arm and
Ball Joint Assembly

Weight: 5685  Length: 9566  Bolt Metric: M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-150 12th Gen 2009-2015 Fr ‘i’; IVZ%” ! 913730784, 711230764
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
-
‘ FO-591 Ball Joint Front Lower 9L.375050A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e
{5 TXNOROT

TEKNOROT REF. FO-1308

Suspension Control Arm and
Ball Joint Assembly

Weight: 5665  Length: 95686  Bolt Metric: M16X2

MODEL NO BODY CODE VEAR DIRECTIONS
EXPEDITION SdGentUaza)  2o07-2015  OTERON
Lower
COMPONENTS NUMBER NAME DIRECTIONS
=
‘ FO-591 Ball Joint Front Lower

o

TEKNOROT REF: FO-1308

Suspension Control Arm and
Ball Joint Assembly

Weight: 5685  Length: 9566  Bolt Metric: M16X2

MODEL NO BODY CODE YEAR DIRECTIONS
EXPEDITION ardGen(U324)  2007-2015  TTOTERON
Lower
DDMP[,ZNEN 7S NUMBER NAME DIRECTIONS
‘ FO-591 Ball Joint Front Lower

o

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

In VEMBER

ADAPTABLEFOR FORD

OEMNO

9L373078A, 7L123078A

OEMNO

9L375050A

ADAPTABLEFOR [FORD

OEMNO

9L5373078A, 7L1Z3078A

OEMNO

9L325050A



Ve

TEKNOROT REF. FO-1308

Suspension Control Arm and
Ball Joint Assembly

4
F
£

Weight: 5665  Length: 9586  Bolt Metric: M16X2
MODEL NO BOOY CODE
NAVIGATOR 3rd Gen, U326
COMPONENTS NUMBER
=
‘ FO-591

TEKNOROT REF: FO-1309

Suspension Control Arm and
Ball Joint Assembly

Weight: 5685  Length: 9586  Bolt Metric: M16X2
MODEL NO BODY CODE
F-150 12th Gen
COMPONENTS NUMBER
>
‘ FO-591

YEAR

2007-2017

NAME

Ball Joint

YEAR

2009-2015

NAME

Ball Joint

ADAPTABLEFOR [ INCOLN

DIRECTIONS

Front Right
Lower

DIRECTIONS

Front Lower

OEMNO

9L373078A, 7L123078A

OEMNO

9L375050A

ADAPTABLEFOR [FORD

DIRECTIONS

Front Left Lower

DIRECTIONS

Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

9L5373075A, 7L1Z3079A

OEMNO

9L325050A



~\ TXNOROT

A 1=
\‘ STEERING 6 SUSPENSION PARTS I

TEKNOROT REF: FO-1309 ADAPTABLEFCR FORD

Suspension Control Arm and
Ball Joint Assembly

Weight: 5665  Length: 95686  Bolt Metric: M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPEDITION 3rdGen(U324)  2007-2015  Front Left Lower 913730794, 711730794
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

-

‘ FO-591 Ball Joint Front Lower 9L373050A
TEKNOROT REF: FO-1309 ADATABLEFOR FOL)
Suspension Control Arm and

Ball Joint Assembly

Weight: 5685  Length: 9566  Bolt Metric: M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPEDITION 3rd Gen(U324) 2007-2015  Front Left Lower 9L.3730784, 7L.173079A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
=
‘ FO-591 Ball Joint Front Lower 9L.373050A

o

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/2
O ENORoT

TEKNOROT REF.: FO-1309 ADAPTABLEFOR | INCOLN

Suspension Control Arm and
Ball Joint Assembly

4
F
£

Weight: 5665  Length: 9586  Bolt Metric: M16X2

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
NAVIGATOR 3rd Gen, U326 2007-2017  Front Left Lower 913730784, 7L.173079A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
&
‘ FO-591 Ball Joint Front Lower 9L373050A
TEKNOROT REF: JE-356 ADAPTABLEFOR JEED

Suspension Stabilizer Bar Link

——e

Weight: 202  Length: 0.39

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

WRANGLER / 1991-1996 Front 52002608, 520026096

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

A T=
“ STEERING 6 SUSPENSION PARTS

TEKNOROT REF. JE-3582 ADAPTABLEFOR JEEP
Suspension Control Arm

Weight: 402  Length: 2912

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
GRAND CHEROHKEE Wi, Wi 1999-2005 Front Lower 52088217A0, 52086217AB
TEKNOROT REF: JE-3682 ADAPTABLEFOR _JEEP
Lateral Arm

Weight: 455  Length: 3092

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

GRAND CHEROKEE Wi, WG 1999-2005 Rear Lower 52088355AD

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



EMBER

ADAPTABLEFOR GHEVROLET

[ =
{» T&XNOROT

TEKNOROT REF: 8B 1271
Control Arm Bushing

¢ yiipy
i PEEE

Weight: 98  Length: 0,503

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SILVERADO 2500 2nd Gen 20112018 7 ngﬁgrwef 20829592* 22849591*

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
}. CH-1008 Control AIm and | Front Right 20599590

Ball Joint Assy Lower
{ CH-1009 | COMIOIAIMENG | coonr eft 1 ower 228209501

Ball Joint Assy

ADAPTABLEFOR GMIC

TEKNOROT REF: SB 1271
Control Arm Bushing

Weight: 98  Length. 0503

MODEL NO

SIERRA 2500

COMPONENTS

>
<

BODY CODE VEAR DIRECTIONS
ond Gen 2011-2018  TOTELower
Outer
NUMBER NAME — DIRECTIONS
cHao0g | COMIOIATMENG | cony) ot ower

Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

22629592 22649591

OEMNO

22629592

22629581



ry
®
TEKNOROT REF: 8B 1271
Control Arm Bushing

TeNOROT

STEERING 6 SUSPENSION PARTS

In VEMBER

ADAPTABLEFOR GHEVROLET

Weight: 98  Length: 0,503
MODEL NO BODY CODE VEAR DIRECTIONS
SILVERADO 3500 2nd Gen ooz-2mg OO
COMPONENTS NUMBER NAME — DIRECTIONS
> owoos | Cgutamons | FA
‘{ CH-1009 ng;%ﬁgfg;d Front Left Lower

TEKNOROT REF: §B 1271

Control Arm Bushing

Weight: 98  Length: 0.503

MODEL NO
SIERRA 3500

COMPONENTS

>
o

OEMNO

22828592* 22849591

OEMNO

22829592

226829551

ADAPTABLEFOR GMC

BODY CODE VEAR DIRECTIONS
ond Gen 2011-2018  TOTELower
Outer
NUMBER NAME — DIRECTIONS
cHao0g | COMIOIATMENG | cony) ot ower

Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

22629592 22649591

OEMNO

226829552

22629581



[ =
{» T&XNOROT

TEKNOROT REF: SB 1271 ADAPTABLEFOR GMIC
Control Arm Bushing

Weight: 98  Length: 0,503

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
SIERRA 2500 2nd Gen 20112018 7 ngﬁgrwef 20829592* 22849591*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

}. CH-1008 Control AIm and | Front Right 20599590
Ball Joint Assy Lower

{ CH-1009 | COMIOIAIMENG | coonr eft 1 ower 228209501
Ball Joint Assy

ADAPTABLEFOR CHEVROLET

TEKNOROT REF: 8B 1272
Control Arm Bushing

Weight: 75  Length.: 0386

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SILVERADO 2500 2nd Gen oo11-2018 " Dg; éfe Vr‘/er 22829592* 22849591
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
}- CH-1008 Control Arm and | Front Right 99829592
Ball Joint Assy Lower
‘( cH1009 | COTEOIAIMENG | ooy ot ower 22829541
Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: SB 1272 ADAPTABLEFOR GMIC
Control Arm Bushing

Weight: 75  Length: 0386

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
SIERRA 2500 2nd Gen 20112018 7 o féfe e 20829592* 22849591*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

}. CH-1008 Control AIm and | Front Right 20599590
Ball Joint Assy Lower

{ CH-1009 | COMIOIAIMENG | coonr eft 1 ower 228209501
Ball Joint Assy

ADAPTABLEFOR CHEVROLET

TEKNOROT REF: 8B 1272
Control Arm Bushing

Weight: 75  Length.: 0386

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SILVERADO 3500 2nd Gen oo11-2018 " Dg; éfe Vr‘/er 22829592* 22849591
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
}- CH-1008 Control Arm and | Front Right 99829592
Ball Joint Assy Lower
‘( cH1009 | COTEOIAIMENG | ooy ot ower 22829541
Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: 881272

Control Arm Bushing

Weight: 75  Length: 0386

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
SIERRA 3500 ond Gen oo11-2018 T Ogg éfe e 20829592* 22849591
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
}. CH-1008 Control AIm and | Front Right 20599590
Ball Joint Assy Lower
{ CH-1009 | COMIOIAIMENG | coonr eft 1 ower 228209501
Ball Joint Assy
TEKNOROT REF: SB 1272 AOATIBLEFOR GMIE
Control Arm Bushing

Weight: 75  Length.: 0386

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
SIERRA 2500 2nd Gen oo11-2018 " Dg; fsfe e 20829592+ 22849591+
COMPONENTS NUMBER NAME DIRECTIONS DEMNO

oH-100g | COTOIAIMaEnd | oo o6 ower 20829591
Ball Joint Assy

- CH-1008 Control Arm and | Front Right 99829592
Ball Joint Assy Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: 881273 ADAPTABLEFOR CHEVROLET
Control Arm Bushing

Weight: 44 Length: 0141

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
SILVERADO 2500 ond Gen oo11-2018 T O’;nf égrwef 20829592* 22849591
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
}. CH-1008 Control AIm and | Front Right 20599590
Ball Joint Assy Lower
{ CH-1009 | COMIOIAIMENG | coonr eft 1 ower 228209501
Ball Joint Assy
TEKNOROT REF: SB 1273 AOATIBLEFOR GMIE
Control Arm Bushing

Weight: 44  Length: 0141

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
SIERRA 2500 2nd Gen oo11-2018 " D’/Z rfgrwer 20829592+ 22849591+
COMPONENTS NUMBER NAME DIRECTIONS DEMNO

oH-100g | COTOIAIMaEnd | oo o6 ower 20829591
Ball Joint Assy

- CH-1008 Control Arm and | Front Right 99829592
Ball Joint Assy Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



- 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: SB 1273 ADAPTABLEFOR HEVROLET

Control Arm Bushing

Weight: 44 Length: 0141

MODEL NO BODY CODE VEAR DIRECTIONS OEM NO
SILVERADO 3500 2nd Gen oo11-2018 T 0’/7[5 égrwer 22829592* 22849591
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
}. CH-1008 Control AIm and | Front Right 20599590
Ball Joint Assy Lower
‘{ CH-1009 | COMIOIAIMENG | coonr eft 1 ower 22829501
Ball Joint Assy

TEKNOROT REF: SB 1273 ADAPTABLEFOR GMIC
Control Arm Bushing

Weight: 44 Length. 0,141

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
SIERRA 3500 2nd Gen oo11-2018 " 0’/7,5 égrwer 20820592*, 22849591*
COMPONENTS NUMBER NAME DIRECTIONS DEMNO

}- CH-1008 Control Arm and | Front Right 29599597
Ball Joint Assy Lower

‘{ cH1009 | COTEOIAIMENG | ooy ot ower 22829541
Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: SB 1273 ADAPTABLEFOR GMIC

control Arm Bushing

Weight: 44 Length: 0141

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
SIERRA 2500 ond Gen oo11-2018